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APPENDIX A: SAMPLE INSTRUCTIONS

COMPARATIVE FAULT
EXAMPLE 1

AUTOMOBILE WRECK
FACTS:
S

mith was injured in an auto accident allegedly caused by Jones’ negligence.  Jones denies fault, alleges fault on behalf of Smith, and has counterclaimed.  Each party claims the other ran a red light.  Both Smith and Jones were injured and their vehicles were damaged.

	Civil 2.40

Modified
	
	
In this case, Smith has the burden of establishing by a preponderance of the evidence all of the facts necessary to prove the following issues:

	
	
	


	
	
	1. That Jones was at fault; and

	
	
	2. The nature and extent of the Smith’s claimed injuries and losses.

	
	
	

	
	
	
Likewise, Jones has the burden of establishing by a preponderance of the evidence all of the facts necessary to prove the following issues.

	
	
	

	
	
	1. That Smith was at fault; and

	
	
	2. The nature and extent of Jones’ claimed injuries and losses.

	
	
	

	
	
	
The term “preponderance of the evidence” means that the amount of evidence that causes you to conclude that an allegation is probably true.  To prove an allegation by the preponderance of the evidence, a party must convince you that the allegation is more likely than not true.

	
	
	

	
	
	
If the evidence on a particular issue is equally balanced, that issue has not been proven by a preponderance of the evidence and the party having the burden of proving that issue has failed.

	
	
	

	
	
	
You must consider all the evidence on each issue.

	
	
	

	Civil 3.50 Modified
	
	
It is your responsibility to determine the fault, if any, of Mr. Jones and Mr. Smith.  If you find that both of them are at fault, you need to compare the fault between the two of them.  To do this, you need to know the definition of the word “fault.”

	
	
	

	
	
	
A person is at fault if you find from the preponderance of the evidence that a person was negligent and that the negligence was a legal cause of the [claimed] injuries and losses.

	
	
	

	T.P.I. - 
Civil 3.50 Modified
	
	
 SEQ CHAPTER \h \r 1In other words, fault has two parts: negligence and legal cause.  Negligence is the failure to use ordinary or reasonable care.  It is either doing something that a reasonably careful person would not do, or the failure to do something that a reasonable careful person would do, under the circumstances similar to those shown in the evidence.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - Civil 3.09

Modified
	
	
 SEQ CHAPTER \h \r 1A person who fails to follow the laws passed by our state legislature is negligent.  The law requires that a person who approaches an intersection with a “red light” stop and not enter the intersection until the light is green.  A person who enters an intersection on a red light is negligent.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - Civil 5.05

Modified
	
	
 SEQ CHAPTER \h \r 1A green light at an intersection is an invitation to proceed and a vehicle operator with a green light has a right to assume that the light is red for cross traffic and that other drivers will obey the law and stop for the red light.  However, a person having a green light in his favor is still required to use reasonable care under the circumstances.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - Civil 5.01

Modified
	
	
 SEQ CHAPTER \h \r 1A person who drives a vehicle on our streets has other responsibilities as well.  A driver has the responsibility to maintain a reasonably safe rate of speed; to have the vehicle under reasonable control; to keep a proper lookout and see and be aware of what is in the driver’s view; and to use reasonable care to avoid an accident.  In summary, both Mr. Jones and Mr. Smith has a duty to exercise reasonable care with regard to the actual and potential dangers existing from weather, road, traffic and other conditions and to follow the traffic laws I have instructed you about.

	
	
	

	T.P.I.  - Civil 3.50 Modified
	
	
 SEQ CHAPTER \h \r 1The second part of fault is legal cause.  A legal cause of an injury is a cause which, in natural and continuous sequence, produces an injury and without which the injury would not have occurred.  A single injury can be caused by the negligent acts and omissions of one or more persons.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - Civil 3.50 Modified
	
	
 SEQ CHAPTER \h \r 1If you find, by a preponderance of the evidence, that a party was negligent and that the negligence was a legal cause of the injury or damage for which the claim was made, you have found that party to be at fault.  As I said above, Mr. Smith has the responsibility to prove by a preponderance of the evidence fault on behalf of Mr. Jones.  If Mr. Smith fails to do so, you should find Mr. Jones’ fault to be zero.  Likewise, Mr. Jones has the responsibility to prove by a preponderance of the evidence fault on behalf of Mr. Smith.  If Mr. Jones fails to do so, you should find Mr. Smith’s fault to be zero.  If you find both Mr. Jones and Mr. Smith at fault, you must then determine the percentage of fault chargeable to each of them.


	 SEQ CHAPTER \h \r 1T.P.I.  - Civil 3.50 Modified
	
	
 SEQ CHAPTER \h \r 1You must then determine the total amount of damages sustained by Mr. Jones and Mr. Smith, and you must do so without reducing those damages by any percentage of fault you may have charged to them. I will instruct you on the law of damages in a few minutes.  It is my responsibility - after you return your verdict - to reduce the amount of damages that you have awarded to Mr. Jones and/or Mr. Smith by the percentage of fault you assign to them (if any).  Mr. Smith can recover damages only if the fault, if any, you assign to him is less than 50% of the total fault.  Mr. Jones can recover damages only if the fault, if any, you assign to him is less than 50% of the total fault. A person who is 50% or more at fault cannot recover any damages whatsoever.  A verdict form, which I will give you in a few minutes, will aid you in your deliberations


EXAMPLE 2

PREMISES LIABILITY

FACTS:
S

mith was injured in a store after a fall allegedly caused by the negligence of Jones, the store owner.  Jones denies fault, alleges fault on behalf of Smith.
	T.P.I. - 

Civil 2.40 Modified
	
	
 SEQ CHAPTER \h \r 1In this case, Smith has the burden of establishing by a preponderance of the evidence all of the facts necessary to prove the following issues:

	
	
	1. That Jones was at fault; and
2. The nature and extent of the Smith’s claimed injuries and losses.

	
	
	

	
	
	
Likewise, Jones has the burden of establishing by a preponderance of the evidence all of the facts necessary to prove the following issue.

	
	
	

	
	
	1. That Smith was at fault.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1The term “preponderance of the evidence” means that the amount of evidence that causes you to conclude that an allegation is probably true.  To prove an allegation by the preponderance of the evidence, a party must convince you that the allegation is more likely than not true.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1If the evidence on a particular issue is equally balanced, that issue has not been proven by a preponderance of the evidence and the party having the burden of proving that issue has failed.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1You must consider all the evidence on each issue.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  -

Civil 3.50 Modified
	
	
 SEQ CHAPTER \h \r 1It is your responsibility to determine the fault, if any, of Mr. Jones and Mr. Smith.  If you find that both of them are at fault, you need to compare the fault between the two of them.  To do this, you need to know the definition of the word “fault.”

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1A person is at fault if you find from the preponderance of the evidence that a person was negligent and that the negligence was a proximate cause of the [claimed] injuries and losses.

	
	
	


	 SEQ CHAPTER \h \r 1 T.P.I.  - Civil 3.50, 3.05

Modified
	
	
 SEQ CHAPTER \h \r 1In other words, fault has two parts: negligence and proximate cause.  Negligence is the failure to use ordinary or reasonable care.  It is either doing something that a reasonably careful person would not do, or the failure to do something that a reasonable careful person would do, under the circumstances similar to those shown in the evidence.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - Civil 9.01

Modified
	
	
 SEQ CHAPTER \h \r 1Mr. Jones, as owner of the store where Mr. Smith fell, does not guarantee the safety of the people who enter the store, but he is under a duty to exercise reasonable care for the safety of his customers.  Mr. Smith has a burden of proving, by a preponderance of the evidence, that Mr. Jones or his employees either created the condition that caused him to fall, that they knew of the condition prior to Mr. Smith’s injury for sufficient time to have corrected the condition or given warning of it, or that the condition had existed for a sufficient period of time that they, in the exercise of reasonable care, should have known about the condition and corrected or warned about it.  The failure to meet these obligations is negligence.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - Civil 9.02 Modified
	
	
 SEQ CHAPTER \h \r 1Mr. Smith had the duty to exercise reasonable care for his own safety and to make reasonable use of his ability to see; the failure to do so is negligence.  It is the responsibility of Mr. Jones to prove the negligence, if any, of Mr. Smith.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - Civil 3.50

Modified
	
	
 SEQ CHAPTER \h \r 1The second part of fault is proximate cause.  A proximate cause of an injury is a cause which, in natural and continuous sequence, produces an injury and without which the injury would not have occurred.  A single injury can be caused by the negligent acts and omissions of one or more persons.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - Civil 3.50 Modified
	
	
 SEQ CHAPTER \h \r 1If you find, by a preponderance of the evidence, that a party was negligent and that the negligence was a proximate cause of the injury or damage for which the claim was made, you have found that party to be at fault.  As I said above, Mr. Smith has the responsibility to prove by a preponderance of the evidence fault on behalf of Mr. Jones.  If Mr. Smith fails to do so, you should find Mr. Jones’ fault to be zero.  Likewise, Mr. Jones has the responsibility to prove by a preponderance of the evidence fault on behalf of Mr. Smith.  If Mr. Jones fails to do so, you should find Mr. Smith’s fault to be zero.  If you find both Mr. Jones and Mr. Smith at fault, you must then determine the percentage of fault chargeable to each of them.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - Civil 3.50 Modified
	
	 SEQ CHAPTER \h \r 1You must then determine the total amount of damages sustained by Mr. Smith, and you must do so without reducing those damages by any percentage of fault you may have charged to him.  I will instruct you on the law of damages in a few minutes.  It is my responsibility - after you return your verdict - to reduce the amount of damages that you have awarded to Mr. Smith by the  SEQ CHAPTER \h \r 1percentage of  fault you assign to him (if any).  Mr. Smith can recover damages only if the fault, if any, you assign to him is less than 50% of the total fault.  A verdict form, which I will give you in a few minutes, will aid you in your deliberations.


	


	
	
	


EXAMPLE 3

PREMISES LIABILITY
FACTS:
M

r. Smith suffered a ruptured disc when he was shopping in Big Value Store.  He claims he slipped and fell on motor oil which had leaked from a damaged plastic one quart container of oil on display in the auto section and accumulated on the yellow floor.  Smith had come around the end of the aisle and had proceeded fifteen feet up the aisle when he slipped.  Smith had, the day before, gotten his new prescription tri-focals from his optometrist.  The fall occurred at 8:00 p.m.  Witness Jones testifies he saw the oil on the floor at 7:30 p.m. and told Mr. Ray, a stock clerk.  Mr. Smith claims both Big Value and Mr. Ray were at fault.  Big Value claims it was not at fault, and alternatively claims comparative fault of Mr. Smith.

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 2.40

Modified
	
	
 SEQ CHAPTER \h \r 1In this action, the plaintiff, Mr. Smith, has the burden of establishing by a preponderance of the evidence all of the facts necessary to prove the following issues:

	
	
	

	
	
	1.  SEQ CHAPTER \h \r 1That either or both of the defendants Big Value Store or Mr. Ray were at fault;
 SEQ CHAPTER \h \r 1

	
	
	

	
	
	
It is stipulated that Mr. Ray was an employee of Big Value, and Big Value is responsible for any fault of Mr. Ray, and

	
	
	

	
	
	2.  SEQ CHAPTER \h \r 1The nature and extent of the injuries claimed to have been suffered, the elements of plaintiff’s damages and the amount thereof.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1The defendants, Big Value Store and Mr. Ray, have the burden of establishing by a preponderance of the evidence all of the facts necessary to prove that the plaintiff, Mr. Smith, was at fault.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1The term “preponderance of the evidence” means that amount of evidence that causes you to conclude that an allegation is probably true.  To prove an allegation by the preponderance of the evidence, a party must convince you that the allegation is more likely than not true.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1If the evidence on a particular issue is equally balanced, that issue has not been proven by a preponderance of the evidence and the party having the burden of proving that issue has failed.

	
	
	

	
	
	
You must consider all the evidence on each issue.

	
	
	

	
	
	
It is your responsibility to determine the fault, if any, of Big Value Store.

	
	
	


	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 3.50 Modified
	
	
 SEQ CHAPTER \h \r 1Mr. Ray and Mr. Smith. If you determine that both plaintiff and one or more defendants are at fault, you will need to compare the fault between those at fault.  To do this, you need to know the definition of fault.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1A person is at fault if you find from the evidence that the person was negligent and that the negligence was a legal cause of plaintiff’s injuries.  In other words, fault has two parts: Negligence and legal cause.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 3.05

Modified
	
	
 SEQ CHAPTER \h \r 1Negligence is the failure to use ordinary or reasonable care.  It is either the doing of something that reasonably careful person would not do, or the failure to do something that a reasonably careful person would do, under   circumstances similar to those shown by the evidence.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 9.01 Modified
	
	
 SEQ CHAPTER \h \r 1Big Value and its employees are under a duty to use ordinary care, which is the care that ordinarily careful persons would use to avoid injury to themselves or others under the same or similar circumstances.  There is no duty to guarantee the safety of those entering upon the property.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1You should consider all the surrounding circumstances in deciding if Big Value and its employees used such care.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 9.02 Modified
	
	
 SEQ CHAPTER \h \r 1To recover for a defective or unreasonably dangerous condition of the property, Mr. Smith must show that Big Value, or its employees, either created the condition or knew of it long enough to have corrected it or given warning of it before Mr. Smith’s injury, or that the condition existed long enough that Big Value or its employees, using reasonable care, should have discovered and corrected or warned of the condition.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 9.07 Modified
	
	
 SEQ CHAPTER \h \r 1Mr. Smith has a duty to exercise reasonable care for his own safety and to make reasonable use of his senses.  If Mr. Smith failed to see or be aware of a defect or unreasonably dangerous condition that is obvious or should be discovered through the use of reasonable care, Mr. Smith is negligent.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 3.50 Modified
	
	
 SEQ CHAPTER \h \r 1The second part of the fault is legal cause.  A legal cause of an injury is a cause which, in natural and continuous sequence, produces an injury and without which the injury would not have occurred.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1If you find that a party was negligent and that the negligence was a legal cause of the injury for which the claim was made, then you have found that party to be at fault.  As I said above, Mr. Smith has the responsibility to prove fault on behalf of Big Value Store or its employees.  If Mr. Smith fails to do so, you should find Big Value Store’s fault to be zero.  Likewise, Big Value Store has the responsibility to prove fault on behalf of Mr. Smith.  If Big Value Store  SEQ CHAPTER \h \r 1fails to do so, you should find Mr. Smith’s fault to be zero.  If you find both Big Value Store and Mr. Smith at fault, then you must determine the percentage of fault chargeable to each of them.


	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 3.50 Modified
	
	
 SEQ CHAPTER \h \r 1The percentage of fault assigned to any party should be dependent upon all the circumstances of the case.  The conduct of the parties may make them more or less at fault, depending upon all the circumstances.  That is a matter entirely for you to decide and you should rely on your own common sense and ordinary experience in apportioning fault.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1You must then determine the amount of damages sustained by Mr. Smith and you must do so without reducing those damages by any percentage of fault you have assessed against Mr. Smith.  It is my responsibility, after you return your verdict, to reduce the damages you award, if any, by the percentage of fault, if any, you assign to Mr. Smith.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1Mr. Smith will be entitled to recover damages from Big Value Store and Mr. Ray only if you find that the degree of fault you assess to Mr. Smith, if any, is less than 50%.  If you find Mr. Smith to be 50% or more at fault, he cannot recover any damages.  I remind you again that you should not reduce the damages by any fault you assess against Mr. Smith; that is my responsibility after your verdict is returned.


JURY VERDICT FORM


We, the jury, unanimously answer the questions submitted by the Court as follows:

1. Do you find the defendant, Big Value Store/Mr. Ray to be at fault? (The plaintiff has the burden of proof.)
 

Yes _____



No _____


If your answer is “no”, stop here, sign the verdict form and return to the Court.  If you answer “yes”, proceed to Question 2.

1. Do you find the plaintiff, Mr. Smith, to be at fault?  (The defendant has the burden of proof.) 



Yes _____



No _____


If your answer is “no”, you have found the defendant 100% at fault and therefore you should skip question 3 and proceed to question 4.  If your answer is “yes”, proceed to question 3.

2. If you have found both parties to be at fault, considering the entire fault at One Hundred Percent (100%), what percentage of fault do you attribute to each of the parties?

Big Value Store/Mr. Ray

% (0-100%)

Mr. Smith



% (0-100%)

Total

  100%








If you find Mr. Smith to be 50% or more at fault, stop here, sign this form and return to the Court.  A plaintiff 50% or more at fault is not entitled to recover damages.  If you find that Mr. Smith is less than 50% at fault, proceed to question 4.

3. Decide the total amount of damages sustained by Mr. Smith.  Do not reduce those damages by any percentage of fault you assign to the plaintiff.  It is the responsibility of the judge, after you return your verdict, to reduce the damages you award, if any, by the percentage of fault you assign to Mr. Smith, if any.

What amount of damages, if any, which have been proven by a preponderance of the evidence:

	
	Non-Economic Damages:
	
	$




	
	
	
	

	
	[a] Pain and suffering – past
	
	$




	
	[b] Pain and suffering – future
	
	$




	
	[c] Permanent impairment/disfigurement
	
	$




	
	[d] Loss of the ability to enjoy life – past
	
	$




	
	[e] Loss of the ability to enjoy life – future
	
	$




	
	
	
	

	
	Economic Damages:
	
	

	
	
	
	

	
	[f] Medical care/services – past
	
	$




	
	[g] Medical care/services – future
	
	$




	
	[h] Loss of earning capacity – past
	
	$




	
	[i] Loss of earning capacity – future
	
	$




	
	
	
	

	
	
	
	

	
	

Total:
	
	$




	
	
	
	

	
	
	
	

	Date:  



	








	
	
JURY FOREPERSON



EXAMPLE 4


PRODUCTS LIABILITY
FACTS:
B

oy Smith, age 13, was injured when his waverunner crashed into a rock bluff.  The waverunner was manufactured by Speedy Boats and was sold to the father of Boy Smith by a local dealer, Marine Retails.  It is claimed by the Smiths that the waverunner had a defective throttle which would stick in the wide open position, and that defendant, Speedy Boats, had received other complaints and had failed to warn.  It is further claimed that Marine Retail had sold the waverunner with the promise that “it’s safe for a child to use.”  Defendants claim no fault and that the mishap was caused by the misuse and negligence of Boy smith.  There is no claim that Smith’s parents were at fault.  Suit is brought on the grounds of strict liability, breach of warranty and negligence.

	 SEQ CHAPTER \h \r 1T.P.I.  -

Civil 2.40

Modified
	
	 SEQ CHAPTER \h \r 1In this case, the Smiths have the burden of establishing by a preponderance of the evidence all of the facts necessary to prove the following issues:

	
	
	1. That the defendants were at fault; and

	
	
	

	
	
	2. The nature and extent of the injuries suffered.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1The defendants have the burden of establishing by a preponderance of the evidence all the facts necessary to prove that the plaintiff, Boy Smith, was at fault.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1The term “preponderance of the evidence” means that amount of evidence that causes you to conclude that an allegation is probably true.  To prove an allegation by the preponderance of the evidence, a party must convince you that the allegation is more likely than not true.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1If the evidence on a particular issue is equally balanced, that issue has not been proven by a preponderance of the evidence and the party having the burden of proving that issue has failed.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1You must consider all the evidence on each issue.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1It is your responsibility to determine the fault, if any, of Speedy Boats, Marine Retail, and Boy Smith.  If you determine that both Boy Smith and one or more of the defendants are at fault, you will need to compare the fault between those at fault.  To do this you need to know the definition of fault.

	
	
	


	 SEQ CHAPTER \h \r 1T.P.I.  -

Civil 3.50

Modified
	
	
 SEQ CHAPTER \h \r 1A person is at fault if you find from a preponderance of the evidence that a person was negligent, or is responsible because of strict liability or A person of A person is at fault if you find from a preponderance of the evidence that a person was negligent, or is responsible because of strict liability or break of warranty and that the negligence, strict liability, or breach of warranty was the legal cause of Boy Smith’s injuries.  In other words, fault has two parts:

	
	
	

	
	
	1. A basis of responsibility in negligence, strict liability or breach of warranty; and

	
	
	

	
	
	2. Legal cause.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 3.05

Modified
	
	
 SEQ CHAPTER \h \r 1Negligence is the failure to use ordinary or reasonable care.  It is either the doing of something that a reasonably careful person would not do, or the failure to do something that a reasonably careful person would do, under circumstances similar to those shown by the evidence.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 10.10

Modified
	
	
 SEQ CHAPTER \h \r 1As the manufacturer of the waverunner, Speedy Boats had a duty to exercise reasonable care in designing, manufacturing, testing, and inspecting the Smiths’ waverunner so that it could be safely used in the manner and for the purpose for which it was made.  The failure to fulfill that duty is negligence.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 10.11

Modified
	
	
 SEQ CHAPTER \h \r 1Marine Retailer, as the seller of the waverunner, did not have a duty to inspect or test the waverunner for possible defects unless it knew or had reason to know that it was likely to be defective or unreasonably dangerous.  If it knew or should have had this knowledge, Marine Retailer had the duty to exercise reasonable care to inspect and test the product before selling.  A failure to fulfill that duty is negligence.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 10.01

Modified
	
	
 SEQ CHAPTER \h \r 1The second claim by the Smiths is that Speedy Boats is strictly liable for Boy Smith’s injuries.  Under this claim a manufacturer of a product is responsible to the user of the product for injuries caused by the product if:

	
	
	

	
	
	1. The product was defective or unreasonably dangerous; and

	
	
	

	
	
	2. The product was expected to and did reach the user without substantial change in the condition in which it was manufactured.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1A product is “defective” if it is unsafe for normal or reasonably anticipated handling and use.  A product is “unreasonably dangerous” if it is more dangerous than would be reasonably expected by the average consumer or would not be offered for sale by a reasonably careful manufacturer who knew of its dangerous condition.  An “average consumer” is a person who has an ordinary level of knowledge about the product.


	
	
	
 SEQ CHAPTER \h \r 1Speedy Boats is not responsible under the law of strict liability for any injury caused by the waverunner unless the waverunner was in a defective or unreasonably dangerous condition at the time it left Speedy Boat’s control.  In making this determination, you must apply the state of scientific and technological knowledge at the time the waverunner was placed on the market rather than at the time of injury.  You should also consider the customary designs, methods, standards, and techniques of manufacturing, inspecting and testing by other manufacturers of similar products.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  -

Civil 10.30 Modified
	
	
 SEQ CHAPTER \h \r 1In this case, the Smiths also seek to establish responsibility based on breach of warranty.  Specifically, the Smiths allege breach of the implied warranty of merchantability and also an express warranty.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1When Speedy Boats and Marine Retail sold the waverunner, they warranted that the waverunner was fit for the ordinary purposes for which such goods are sold.  To prove breach of this implied warranty, the Smiths must prove that the waverunner was sold in a defective or unreasonably dangerous condition.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  -

Civil 10.22 Modified
	
	
 SEQ CHAPTER \h \r 1Likewise, the Smiths allege that Marine Retailer breached an express warranty.  An express warranty may be made orally or in writing, or it may be implied from the circumstances of the sale.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1An affirmation of fact or promise made by the seller to the buyer which relates to the product and upon which the buyer relies in making the decision to buy creates an express warranty that the product shall conform to the affirmation or promise.  No particular word or expression is necessary to create an express warranty.  It is not necessary for the seller to use formal words such as “warranty” or “guaranty” or that the seller have a specific intention to make a warranty.

	
	
	

	
	
	 SEQ CHAPTER \h \r 1A statement that is merely the seller’s opinion or a commendation of the product does not create a warranty.  An opinion is the expression of a conclusion or judgment which does not purport to be based on actual  SEQ CHAPTER \h \r 1knowledge.  Several factors which may be used to determine whether a particular statement was a statement of fact or merely an expression of opinion include:

	
	
	

	
	
	1. The circumstances under which the statement was made;

	
	
	

	
	
	2. The manner in which the statement was made;

	
	
	

	
	
	3. The ordinary effect, interference, and implication of the words used;


	
	
	4. The relationship of the parties, including the history of the relationship; and

	
	
	

	
	
	5. The subject matter of the statement.

	
	
	

	
	
	

	
	
	BUYER’S EXAMINATION

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  -

Civil 10.24

Modified
	
	
 SEQ CHAPTER \h \r 1If, before making the purchase, the buyer examines the goods to the buyer’s satisfaction or refused to examine as to defects that a reasonable examination should have revealed.  If the defect could not have been discovered upon a reasonable inspection, the buyer’s examination will not relieve the seller of liability for the defects.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1If the defect is latent or concealed, a buyer may rely on a express warranty even though there has been an examination or an opportunity to examine the product before making a purchase.  However, if the buyer has actual knowledge that the product is defective, the buyer may not rely on an express warranty.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 10.03 Modified
	
	
 SEQ CHAPTER \h \r 1If the waverunner was not defective or unreasonably dangerous at the time it left the defendant’s control the defendants are not at fault if the product is made defective or unreasonably dangerous by subsequent unforeseeable alteration, improper maintenance or abnormal use.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 10.12 Modified
	
	
 SEQ CHAPTER \h \r 1If Speedy Boats or Marine Retail knew or reasonably should have known that the waverunner was likely to be dangerous for its intended use or foreseeable misuse they had a duty to use reasonable care to warn of the waverunner’s danger or to reveal its unsafe condition.  Warnings should be given to those persons who should reasonably be expected to use or to handle the waverunner or be endangered by its use or handling, if the defendants reasonably should have believed those persons would not realize the danger without the warnings.  The failure to fulfill this duty is negligence.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 10.02 Modified
	
	
 SEQ CHAPTER \h \r 1A product is defective or unreasonably dangerous if it is not accompanied by adequate warnings.  Where proper instruction for use and an adequate warning of dangers is given, the defendant’s may reasonably assume that they will be read and followed.  Thus, a product is not in a defective condition, nor is it unreasonably dangerous, if:

	
	
	

	
	
	1.  SEQ CHAPTER \h \r 1The manufacturer or seller has given proper instruction for the use of a product and an adequate warning of the dangers associated with the use or misuses of the product; and

	
	
	


	
	
	2. The product is safe for use if the instructions and warnings are read and followed

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1Adequate and proper instructions prescribe procedures for efficient use and for avoiding danger.  An adequate warning is one calculated to call to the attention of a reasonably careful person the nature and extent of the danger involved in using or misusing the product.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 3.50 Modified
	
	
 SEQ CHAPTER \h \r 1In preparing instructions and warnings, manufacturers and sellers must take into account, among other things, the intended or reasonably expected users or consumers of the product.  Where a danger or hazard is apparent to the ordinary user, a product is not unreasonably dangerous or defective even if no warning is given.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1The second part of the fault is legal cause.  A legal cause of an injury is a cause which, in natural and continuous sequence, produces an injury and without which the injury would not have occurred.  A single injury can be caused by one or more events.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1If you find that a party was negligent, or had a basis for responsibility arising from strict liability or breach of warranty, and that the negligence, or basis of responsibility was a legal cause of the injury for which the claim was made, then you have found that party to be at fault.   As I said above, Boy Smith has the responsibility to prove fault on behalf of Speedy Boats and/or Marine Retail.  If Boy Smith fails to do so, you should find that defendant’s fault to be zero.  Likewise, Speedy Boats and Marine Retail have the responsibility to prove fault on behalf of Boy Smith.  If defendants fails to do so, you should find Boy Smith’s fault to be zero.  If you find more than one party at fault, then you must determine the percentage of fault chargeable to each of them who is found to be at fault.  If the fault is the result of breach of implied warranty, such fault will be assigned to the product and both Speedy Boats and Marine Retail will be responsible.  If the fault is the result of strict liability it will be the responsibility of Speedy Boats.  If fault is the result of  SEQ CHAPTER \h \r 1breach of express warranty it will be the responsibility of Marine Retail.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1The percentage of fault assigned to any party should be dependent upon all the circumstances of the case.  The conduct of the parties may make them more or less at fault, depending upon all the circumstances.  In order to assist you in making this determination, I am going to give you some factors to consider.


	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 3.52 Modified
	
	
 SEQ CHAPTER \h \r 1In determining the relative percentages of fault of the plaintiff and the defendants, you may consider the following factors:

	
	
	1.  SEQ CHAPTER \h \r 1The relative closeness of the casual relationship between the conduct of a party and the injury to the plaintiff;

	
	
	

	
	
	2.  SEQ CHAPTER \h \r 1The reasonableness of the parties conduct in confronting a risk, such as whether the party knew of the risk, or should have known of it;

	
	
	

	
	
	3.  SEQ CHAPTER \h \r 1The extent to which a party failed to reasonably utilize an existing opportunity to avoid injury to another;

	
	
	

	
	
	4.  SEQ CHAPTER \h \r 1Whether the conduct was inadvertent or whether it was engaged in with an awareness of the danger involved;

	
	
	

	
	
	5.  SEQ CHAPTER \h \r 1The magnitude of the risk created by the conduct, including the number of persons endangered and how seriously someone might have been injured;

	
	
	

	
	
	6.  SEQ CHAPTER \h \r 1The parties particular capacities such as age and maturity.

	
	
	

	
	
	

	
	
	Standard of Care Imposed on Minors

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 3.07 Modified
	
	
 SEQ CHAPTER \h \r 1To be at fault a person must be capable of appreciating the risk that person’s conduct, or the conduct of others, creates and capable of forming a reasonable judgment against that conduct.  Therefore, the fault of minors is to be determined in light of his age, experience, training, education, maturity and other factors which would influence his judgment.  In addition, a minor will not be held to the standard of care imposed on adults.  Rather, the minor is chargeable with such care as a reasonably careful person of like age, capacity, knowledge, and experience would be expected ordinarily to use.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1By listing these factors, I do not mean to indicate that these are the only factors you could consider in apportioning fault between parties who are  SEQ CHAPTER \h \r 1negligent, nor do I intend to suggest to you that either party is negligent.  That is a matter entirely for you to decide and you should rely on your own common sense and ordinary experience in apportioning fault.

	
	
	


	 SEQ CHAPTER \h \r 1T.P.I.  -

Civil 3.50

Modified
	
	
 SEQ CHAPTER \h \r 1You must then determine the amount of damages sustained by Boy Smith and you must do so without reducing those damages, if any, by any percentage of fault you have assessed against Boy Smith.  It is my responsibility, after you return your verdict, to reduce any damages you may award by any percentage of fault you may have assigned to Boy Smith.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1Boy Smith will be entitled to recover damages from Speedy Boats and Marine Retails only if you find that the degree of fault you assess to Boy Smith, if any, is less than 50%.  If you find Boy Smith to be 50% or more at fault, he cannot recover any damages.  I remind you again that you should not reduce the damages by any fault you assess against Boy Smith; that is my responsibility after your verdict if returned.



JURY VERDICT FORM


We, the jury, unanimously answer the questions submitted by the Court as follows:

1.  SEQ CHAPTER \h \r 1Do you find the defendants SpeedyBoats and Marine Retail to be at fault due to breach of implied warranty?  (Any liability arising out of breach of warranty must be compared and the result set out in Question 6.  The plaintiff has the burden of proof.)
 

Yes _____



No _____

2.  SEQ CHAPTER \h \r 1Do you find the defendant Speedy Boats to be at fault due to strict liability?  (Any liability arising out of strict liability must be compared and the result set out in Question 6.  The plaintiff has the burden of proof.) 



Yes _____



No _____

3. Do you find the defendant Marine Retail to be at fault due to negligence? (The plaintiff has the burden of proof.)


Yes _____



No _____

4. Do you find the defendant Marine Retail to be at fault due to express warranty?  (The plaintiff has the burden of proof.)  If the answer to question 1, 2, 3, or 4 is YES, proceed to question 5.  If the answer to question 1, 2, 3, and 4 is NO, sign the verdict form and return to Court.



Yes _____




No _____

5. Do you find the plaintiff Boy Smith to be at fault?  (The defendants have the burden of proof.)



Yes _____




No _____


If your answer is NO, you have found defendant(s) 100% at fault and therefore you should put an “0" on the line opposite Boy Smith in question 5.  If you have answered any of the above questions “YES”, proceed to Question 5.

6. If you have found more than one party to be at fault, considering all the fault at One Hundred Percent (100%), what percentage of fault do you attribute to each of the parties?

	
	The Product
	$

% (0-100%)

	
	
	
	

	
	Speedy Boats – Negligence
	$

% (0-100%)

	
	
	
	

	
	Marine Retail – Negligence
	$

% (0-100%)

	
	
	
	

	
	Marine Retail – Express Warranty
	$

% (0-100%)

	
	
	
	

	
	Boy Smith
	$

% (0-100%)

	
	
	
	

	
	
Total:
	$
100
%



If you find Boy Smith to be 50% or more at fault, stop here, sign this fault and return to court.  A plaintiff 50% or more at fault is not entitled to recover damages.

7. Decide the total amount of damages sustained by Boy Smith.  Do not reduce those damages by any percentage of fault you assign to plaintiff.  It is the responsibility of the judge, after you return your verdict, to reduce the damages you award, if any, by the percentage of fault you assign to Boy Smith, if any.

Itemized Damages

What amount of damages, if any, which have been proven by a preponderance of the evidence:

	
	Non-Economic Damages:
	
	

	
	
	
	

	
	[a] Pain and suffering – past
	
	$



	
	
	
	

	
	[b] Pain and suffering – future 
	
	$



	
	
	
	

	
	[c] Permanent impairment/disfigurement
	
	$



	
	
	
	

	
	[d] Loss of the ability to enjoy life – past
	
	$



	
	
	
	

	
	[e] loss of ability to enjoy life – future
	
	$



	
	
	
	

	
	
	
	

	
	Economic Damages:
	
	

	
	
	
	

	
	[f] Medical care/services – past
	
	$



	
	
	
	

	
	[g] Medical care/services – future
	
	$



	
	
	
	

	
	[h] Loss of earning capacity – past
	
	$



	
	
	
	

	
	[i] Loss of earning capacity - future
	
	$



	
	
	
	

	
	
Total:
	
	$



	
	
	
	

	
	
	
	

	Date:  


	
	






	
	
	FOREPERSON


EXAMPLE 5
MEDICAL MALPRACTICE
S

mith alleges that she was injured as a result of the medical negligence of Dr. Jones and the nursing staff at Hospital.  The nurses were not sued individually.  Neither Defendant alleges fault on behalf of the other or on behalf of the plaintiff.

	 SEQ CHAPTER \h \r 1T.P.I.  -

Civil 2.40

Modified
	
	
 SEQ CHAPTER \h \r 1In this case, Smith has the burden of establishing by a preponderance of the evidence all of the facts necessary to prove the following issues:

	
	
	

	
	
	1.  SEQ CHAPTER \h \r 1That Jones and the nurses employed by the Hospital were at fault; and

	
	
	

	
	
	2.  SEQ CHAPTER \h \r 1The nature and extent of the Smith’s claimed injuries and losses.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1The term “preponderance of the evidence” means that amount of evidence that causes you to conclude that an allegation is probably true.  To prove an allegation by the preponderance of the evidence, a party must convince you that the allegation is more likely than not true.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1If the evidence on a particular issue is equally balanced, that issue has not been proven by a preponderance of the evidence and the party having the burden of proving that issue has failed.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1You must consider all the evidence on each issue.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 3.50

Modified
	
	
 SEQ CHAPTER \h \r 1As I said, it is your responsibility to determine the fault, if any, of Dr. Jones and Hospital.  If you find that both of them are at fault, you need to compare the fault between the two of them.  To do this, you need to know the definition of the word “fault.”

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 6.01

Modified
	
	
 SEQ CHAPTER \h \r 1The first part of fault is negligence.  Professionals such as Dr. Jones and the nurses who cared for Ms. Smith must use reasonable care to avoid causing injury to that person.  The knowledge and care required of the professional is the same as other reputable professionals practicing in the same or similar community and under similar circumstances.  A professional not only must have that degree of learning and skill possessed by other reputable professionals but also must use the care and skill ordinarily used in like cases.  In applying that skill and learning, a professional is required to use reasonable care diligence and best judgment in an effort to accomplish the purpose of the employment.  The failure to have and use such knowledge and skill is negligence.


	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 6.11

Modified
	
	
 SEQ CHAPTER \h \r 1Dr. Jones holds himself out as a specialist in orthopedic surgery, and is required to have the knowledge and skill ordinarily possessed, and to use the care and skill ordinarily used, by reputable specialists in the field of orthopedic surgery practicing in this community or a similar community under similar circumstances.  The failure to have and use such knowledge and skill is negligence

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 6.05

Modified
	
	
 SEQ CHAPTER \h \r 1To determine the standard of professional learning, skill and care that was required of Dr. Jones and the nurses; you must consider only the opinions of those expert witnesses who have testified to the standard that applies to each.  You may also consider the testimony of Dr. Jones and the nurses as to the applicable standard.  I have previously instructed you on the rules you should follow in evaluating expert testimony.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 6.12

Modified
	
	
 SEQ CHAPTER \h \r 1By undertaking medical care of a patient a health care professional does not guarantee a good result.  A professional is not negligent merely because of an unsuccessful result or an error in judgment.  A health care professional is not presumed to be at fault simply because an injury occurred.  It is negligence, however, if the error in judgment or lack of success is due to the failure to use the required care and skill as defined in these instructions.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 3.50

Modified
	
	
 SEQ CHAPTER \h \r 1The second part of fault is legal cause.  A legal cause of an injury is a case which, in natural and continuous sequence, produces an injury and without which the injury would not have occurred.  A single injury can be caused by the negligent acts and omissions of one or more persons.

	
	
	

	 SEQ CHAPTER \h \r 1T.P.I.  - 

Civil 3.50

Modified
	
	
 SEQ CHAPTER \h \r 1If you find that Dr. Jones or one or more of the Hospital’s nurses was negligent and that the negligence was a legal cause of the injury or damage for which the claim was made, you have found that party to be at fault.  As I said above, Ms. Smith has the responsibility to prove fault on behalf of Dr. Jones and one or more of the Hospital’s nurses.  If Ms. Smith fails to prove fault of both Dr. Jones and the Hospital, then you should find the fault of both to be 0%.  If you find one of the defendants at fault but not the other, then you must find the at-fault defendant to be 100% at fault and the other to be 0% at fault.  If you find both Dr. Jones and the Hospital’s nurse or nurses to be at fault, you must then determine the percentage of fault chargeable to each of them.

	
	
	

	
	
	
 SEQ CHAPTER \h \r 1You must then determine the total amount of damages, if any, sustained by Ms. Smith.  A verdict form, which I will give you in a few minutes, will aid you in your deliberations.


VERDICT FORM

LIABILITY PORTION ONLY


We, the jury, unanimously answer the questions submitted by the Court as follows:

1.  SEQ CHAPTER \h \r 1Do you find Dr. Jones to be at fault? (Must be proved by Ms. Smith)
 

Yes _____



No _____

2.  SEQ CHAPTER \h \r 1Do you find one or more of the nurses employed by the hospital to be at fault? 



Yes _____



No _____


(Must be proved by Ms. Smith.  Hospital is legally responsible for the fault, if any, of its employees.  If you have answered NO to each of these questions, sign the verdict form and return to the courtroom.  If you have answered YES to either or both questions, answer questions 3 & 4.)
3. What percentage of fault, if any, do you assign to each party?
	
	Dr. Jones
	

% (0-100%)

	
	
	
	

	
	Hospital (for its nurses)
	

% (0-100%)

	
	
	
	

	
	
	
	

	
	
Total:
	
100
%


DAMAGES

	
	Non-Economic Damages:
	
	

	
	
	
	

	
	[a] Pain and suffering – past
	
	$



	
	
	
	

	
	[b] Pain and suffering – future 
	
	$



	
	
	
	

	
	[c] Permanent impairment/disfigurement
	
	$



	
	
	
	

	
	[d] Loss of the ability to enjoy life – past
	
	$



	
	
	
	

	
	[e] loss of ability to enjoy life – future
	
	$



	
	
	
	

	
	
	
	


	
	Economic Damages:
	
	

	
	
	
	

	
	[f] Medical care/services – past
	
	$



	
	
	
	

	
	[g] Medical care/services – future
	
	$



	
	
	
	

	
	[h] Loss of earning capacity – past
	
	$



	
	
	
	

	
	[i] Loss of earning capacity - future
	
	$



	
	
	
	

	
	
Total:
	
	$



	
	
	
	

	
	
	
	

	Date:  


	
	






	
	
	FOREPERSON


APPENDIX B: SAMPLE VERDICT FORMS

FORM 1

COMPARATIVE FAULT VERDICT FORM

(MULTIPLE DEFENDANT CASE WHERE EACH DEFENDANT

ASSERTS THE OTHER DEFENDANT OR NON-PARTY

IS AT FAULT AND THAT THE PLAINTIFF IS ALSO AT FAULT)

We, the jury, unanimously answer the questions submitted by the Court as follows:

1. Do you find the defendant 



  to be at fault?  (May be proved by plaintiff or defendant                    )
Yes _____



No _____


If your answer is no, put a “0” in the space provided in Question 5 for this defendant.
2. Do you find the defendant                                                           to be at fault? (May be proved by plaintiff or defendant                    )



Yes _____



No _____

3. Do you find                                                           who is not a party to this lawsuit to be at fault?  (May be proved by plaintiff or defendant                    )

If your answer is no, put a “0” in the space provided in Question 5 for this defendant. 

4. Do you find the plaintiff                                                           to be at fault?  (The defendants have the burden of proof.)


Proceed to Question 5.  If your answer is no, put a “0” in the space designated for plaintiff’s percentage of fault.

5. If you found any party or non-party to be at fault, considering the entire fault at One Hundred Percent (100%), what percentage of fault do you attribute to each of the parties?

	





	
	

% (0-100%)

	(plaintiff)
	
	

	
	
	

	





	
	

% (0-100%)

	(defendant)
	
	

	
	
	

	





	
	

% (0-100%)

	(defendant)
	
	

	
	
	

	





	
	

% (0-100%)

	(non-party)
	
	

	
	
	

	Total:
	

% (100%)



The next portion of this Jury Verdict Form addresses damages.  In arriving at the full damage figure, you should not consider in any way the question of fault or the allocation of fault.  Do not reduce the damages by a percentage of fault.  The Court will compute the amount of the 
verdict for                                                           by reducing the amount you will find to be their 

(plaintiff)

damages by the fault you assess against them, if any.  

                                                          will not be entitled to recover any damages if 


 (plaintiff) 

fault is 50% or greater.

6. If you found any party to be at fault, set out the damages, if any, which have been proven by a preponderance of the evidence:

DAMAGES
	
	Non-Economic Damages:
	
	

	
	
	
	

	
	[a] Pain and suffering – past
	
	$



	
	
	
	

	
	[b] Pain and suffering – future 
	
	$



	
	
	
	

	
	[c] Permanent impairment/disfigurement
	
	$



	
	
	
	

	
	[d] Loss of the ability to enjoy life – past
	
	$



	
	
	
	

	
	[e] loss of ability to enjoy life – future
	
	$




	
	Economic Damages:
	
	

	
	
	
	

	
	[f] Medical care/services – past
	
	$



	
	
	
	

	
	[g] Medical care/services – future
	
	$



	
	
	
	

	
	[h] Loss of earning capacity – past
	
	$



	
	
	
	

	
	[i] Loss of earning capacity - future
	
	$



	
	
	
	

	
	
Total:
	
	$



	
	
	
	

	
	
	
	

	Date:  


	
	






	
	
	FOREPERSON


FORM 2

COMPARATIVE FAULT VERDICT FORM

(MULTIPLE DEFENDANT CASE WHERE EACH DEFENDANT

ASSERTS THE OTHER IS AT FAULT AND THAT THE PLAINTIFF IS ALSO AT FAULT; PLAINTIFF’S SPOUSE ASSERTS LOSS OF CONSORTIUM CLAIM)


We, the jury, unanimously answer the questions submitted by the Court as follows:

1. Do you find the defendant                                                           to be at fault?  (May be proved by plaintiff or defendant                         .)
Yes _____



No _____


If your answer is no, put a “0” in the space provided in Question 5 for this defendant.

2.   Do you find the defendant                                                           to be at fault?  (May be proved by plaintiff or defendant                         .)
Yes _____



No _____


If your answer is no, put a “0” in the space provided in Question 5 for this defendant. 

3.  Do you find                                                           who is not a party to this lawsuit to be at fault? (Burden of proof is on defendant                         )
Yes _____



No _____


If your answer is no, put a “0” in the space provided in Question 5 for the defendant. 

4. Do you find the plaintiff                                                           to be at fault? (The defendants have the burden of proof.)  

Yes _____



No _____


Proceed to Question 5.  If your answer is no, put a “0” in the space designated for plaintiff’s percentage of fault.

5. If you found any party or non-party to be at fault, considering the entire fault at One Hundred Percent (100%), what percentage of fault do you attribute to each of the parties?

	





	
	

% (0-100%)

	(plaintiff)
	
	

	
	
	

	





	
	

% (0-100%)

	(defendant)
	
	

	
	
	

	





	
	

% (0-100%)

	(defendant)
	
	

	
	
	

	





	
	

% (0-100%)

	(non-party)
	
	

	
	
	

	Total:
	

% (100%)



The next portion of this Jury Verdict Form addresses damages.  In arriving at the full damage figure, you should not consider in any way the question of fault or the allocation of fault.  Do not reduce the damages by any percentage of fault.  The Court will compute the amount of
the verdict for                                                           by reducing the amount you will find to be 



(plaintiff)
their damages by the fault you assess against them, if any.  

                                                      will not be entitled to recover any damages if fault is 50% 

(plaintiff) 

fault is 50% or greater.

1. If you found any party to be at fault, set out the damages, if any, which have been proven by a preponderance of the evidence:
DAMAGES
	
	Non-Economic Damages:
	
	

	
	
	
	

	
	[a] Pain and suffering – past
	
	$



	
	
	
	

	
	[b] Pain and suffering – future 
	
	$



	
	
	
	

	
	[c] Permanent impairment/disfigurement
	
	$



	
	
	
	

	
	[d] Loss of the ability to enjoy life – past
	
	$



	
	[e] loss of ability to enjoy life – future
	
	$




	
	Economic Damages:
	
	

	
	
	
	

	
	[f] Medical care/services – past
	
	$



	
	
	
	

	
	[g] Medical care/services – future
	
	$



	
	
	
	

	
	[h] Loss of earning capacity – past
	
	$



	
	
	
	

	
	[i] Loss of earning capacity - future
	
	$



	
	
	
	

	
	
Total:
	
	$



	
	
	
	

	
	
	
	


7. Set out the amount of damages, if any, to 


 that have been proven by a 


(spouse)
preponderance of the evidence. 
	Loss of Services/Consortium
	$





	
	
	

	
	
	

	
	
	

	
	
	

	Date:  


	
	






	
	
	FOREPERSON


FORM 3
JURY VERDICT FORM

We, the jury, unanimously answer the questions submitted by the Court as follows: 

1. Do you find the defendant, _______________________, to be at fault?  (The plaintiff has the burden of proof.)

Yes _____



No _____


If your answer is “no”, stop here, sign the verdict form and return to the court.  If your answer is “yes”, proceed to Question 2.
2. Do you find the plaintiff, _________________________, to be at fault?  (The defendant has the burden of proof.)
Yes _____



No _____

3. Considering the entire fault at One Hundred Percent (100%), what percentage of fault do you attribute to each of the following persons?
	





	
	

% (0-100%)

	(plaintiff)
	
	

	
	
	

	





	
	

% (0-100%)

	(defendant)
	
	

	
	
	

	Total:
	


% (100%)

	
	
(must be 100%)


 
If you find the plaintiff to be 50% or more at fault, stop here, sign this form and return to the court.  A plaintiff or more at fault is not entitled to recover damages.  If you find that the plaintiff is less than 50% at fault, proceed to Question 4.

In answering the following questions about damages for specific time periods, you should not consider in any way the question of fault or the allocation of fault.  Do not reduce any damages by any percentage of fault you may have assigned to the plaintiff.  It is the responsibility of the Judge, after you return your verdict, to reduce the damages you award, if any, by the percentage of fault you assign to the plaintiff.  (Burden of proof is on the plaintiff.
4. What is the amount of any past economic damages sustained for medical and other costs of health care?
	
TOTAL PAST HEALTH CARE DAMAGES
	$






5. What is the amount of any damages sustained for [past loss of earnings ability and] other past economic damages, excluding health care?
 

	
TOTAL OTHER PAST ECONOMIC DAMAGES
	$






6. What is the amount of any past non-economic damages for [pain and suffering], [disability], [physical impairment], [disfigurement], [mental anguish], [aggravation of a disease or physical defect] [or] [loss of capacity for the enjoyment of life]?
	
TOTAL PAST NON-ECONOMIC DAMAGES
	$






7. What is the present net value amount of any future economic damages for medical and other costs for health care to be sustained in the future and the period over which you find they will accrue?

	FOR THE PERIOD FROM TRIAL THROUGH
	

,20
, THE TOTAL

	PRESENT NET VALUE OF OTHER FUTURE ECONOMIC DAMAGES

	
	$






8. What is the present net value of any future economic damages for [lost earning ability and] other past economic damages, excluding health care, to be sustained in the future and the period over which they will accrue?
	FOR THE PERIOD FROM TRIAL THROUGH
	

,20
, THE TOTAL

	PRESENT NET VALUE OF OTHER FUTURE ECONOMIC DAMAGES

	
	$






9. What is the present net value amount of any future non-economic damages for [pain and suffering], [disability], [physical impairment], [disfigurement], [mental anguish], [aggravation of a disease or physical defect] [or] [loss of capacity for the enjoyment of life] to be sustained in the future and the period over which they will accrue?
FOR THE PERIOD FROM TRIAL THROUGH 


, 20
, THE TOTAL PRESENT NET VALUE OF OTHER FUTURE ECONOMIC DAMAGES:
	
	$






	
TOTAL DAMAGES OF PLAINTIFF, 





,

	
	

	
	$





	
	(Add subtotals from questions 4, 5, 6, 7, 8, and 9)


	Date:  


	
	






	
	
	FOREPERSON


APPENDIX C: FORM 1

MODEL VERDICT FORM FOR CLAIMS ARISING ON OR AFTER OCTOBER 1, 2011


These are sample jury instructions for use in tort cases tried under the Tennessee Civil Justice Reform Act (the “Act”), effective in cases for injuries, deaths and other losses arising on or after October 1, 2011.  They are not to be used in cases arising before the effective date of the Act.


Form 1 is for use in a tort case involving only one plaintiff and one defendant. Form 2 includes claims for loss of consortium brought by an in injured Plaintiff’s spouse.  Appropriate modifications must be made to the forms if the case involves multiple parties, does not involve a claim for future damages, involves a claim for property damage, and in other circumstances.


The Committee is aware that the General Assembly has defined the terms “economic damages” and “noneconomic damages” and has placed certain limitations on the recovery of noneconomic damages under various circumstances.  T.C.A. Sec. 29-39-101 et seq.  Depending on the findings of the jury on those losses defined as "noneconomic damages," the trial judge has the responsibility to review the verdict form and, if appropriate, reduce the verdict and enter a judgment consistent with the mandate of the statute. The Committee has consciously concluded that there is no need to define or otherwise instruct the jury about the definitions of "economic" and "noneconomic" damages. 


Judges and attorneys are urged to modify these forms as appropriate for the circumstances of a case.
JURY VERDICT FORM 1


We, the jury, unanimously answer the questions submitted by the Court as follows:

1. Do you find the defendant, 





, to be at fault?  (The plaintiff has the burden of proof.)





Yes _____

No _____


If your answer is “no”, stop here, sign the verdict form and return to the Court.  If you answer is “yes”, proceed to Question 2.
2. Do you find the plaintiff,_________________________, to be at fault?  (The defendant has the burden of proof.) 





Yes _____

No _____

3. Considering the entire fault at One Hundred Percent (100%), what percentage of fault do you attribute to each of the following persons?

	





	
	

% (0-100%)

	(plaintiff)
	
	

	
	
	

	





	
	

% (0-100%)

	(defendant)
	
	

	Total:
	


% (100%)

	
	
(must be 100%)



If you find the plaintiff to be 50% or more at fault, stop here, sign this form and return to Court.  A plaintiff 50% or more at fault is not entitled to recover damages.  If you find that the plaintiff is less than 50% at fault, proceed to question 4.

In answering the following questions about damages for specific time periods, you should not consider in any way the question of fault or the allocation of fault.  Do not reduce any damages by any percentage of fault you may have assigned to the plaintiff.  It is the responsibility of the Judge, after you return your verdict, to reduce the damages you award, if any, by the percentage of fault you assign to the plaintiff.  (Burden of proof is on the plaintiff.)


What amount of past damages, if any, have been proven for the following:

4. Past medical and other costs of health care?



$



5. Past loss of earning capacity?





$



6. Past [pain and suffering], [disability], [physical impairment], [disfigurement], [mental anguish], [aggravation of a disease or physical defect] [or] [loss of capacity for the enjoyment of life]? 












$




What amount of future damages, if any, and over what period of time, have been proven for the following:

7. For the period of time from this trial through 


, 20
, the present cash value for future medical and other costs for health care? 












$



8. For the period of time from this trial through 


, 20
, the present cash value of future lost earning capacity?












$



9. For the period of time from this trial through 


, 20
, the present cash value of any future damages for [pain and suffering], [disability], [physical impairment], [disfigurement], [mental anguish], [aggravation of a disease or physical defect] [or] [loss of capacity for the enjoyment of life]?











$



	
TOTAL DAMAGES OF PLAINTIFF, 





,

	
	

	
	$





	
	(Add subtotals from questions 4, 5, 6, 7, 8, and 9)


	Date:  


	
	






	
	
	FOREPERSON


T.P.I. MODEL FORM OF VERDICT

             PERSONAL INJURY DAMAGES FOR INJURED PLAINTIFF AND SPOUSE
JURY VERDICT FORM 2


We, the jury, unanimously answer the questions submitted by the Court as follows:

LIABILITY SECTION:

1. Do you find the defendant, 




, to be at fault? 






Yes _____

No _____

If your answer is "no", stop here, sign the verdict form and return to the Court.  If you answer "yes", proceed to Question 2.
2. Do you find the plaintiff, 




, to be at fault?

Yes _____

No _____

3. Considering the entire fault at One Hundred Percent (100%), what percentage of fault do you attribute to each of the following persons?

	





	
	

% (0-100%)

	(plaintiff)
	
	

	
	
	

	





	
	

% (0-100%)

	(defendant)
	
	

	Total:
	


% (100%)

	
	
(must be 100%)



If you find the plaintiff to be 50% or more at fault, stop here, sign this form and return to Court.  A plaintiff 50% or more at fault is not entitled to recover damages.  If you find that the plaintiff is less than 50% at fault, proceed to question 4.
DAMAGES SECTION FOR INJURED PLAINTIFF:


In answering the following questions about damages for specific time periods, you should not consider in any way the question of fault or the allocation of fault.  Do not reduce any damages by any percentage of fault you may have assigned to the plaintiff.  It is the responsibility of the Judge, after you return your verdict, to reduce the damages you award, if any, by the percentage of fault you assign to the injured plaintiff.
         

4. What is the amount of any past damages sustained by ________________for medical and other costs of health care?











$



5. What is the amount of any damages sustained by 




for [past loss of earnings ability and] other past damages, excluding health care?











$



6. What is the amount of any past damages sustained by 




for [pain and suffering], [disability], [physical impairment], [disfigurement], [mental anguish], [aggravation of a disease or physical defect] [or] [loss of capacity for the enjoyment of life]?












$



7. What is the present net value amount of any future damages for medical and other costs for health care to be sustained by 



in the future and the time period over which you find they will accrue?


FOR TIME FROM TRIAL THROUGH 


, 20
   
$



8. What is the present net value amount of any future damages for [lost earning ability and] other past damages, excluding health care, to be sustained by 



in the future and the period over which they will accrue?


FOR TIME FROM TRIAL THROUGH 


, 20
   
$



9. What is the present net value amount of any future damages for [pain and suffering], [disability], [physical impairment], [disfigurement], [mental anguish], [aggravation of a disease or physical defect] [or] [loss of capacity for the enjoyment of life] to be sustained by 




 in the future and the period over which they will accrue?


FOR TIME FROM TRIAL THROUGH 


, 20
    
$



	
TOTAL DAMAGES OF PLAINTIFF, 





,

	
	

	
	$





	
	(Add subtotals from questions 4, 5, 6, 7, 8, and 9)


	Date:  


	
	






	
	
	FOREPERSON


DAMAGES SECTION FOR INJURED PLAINTIFF'S SPOUSE:


In answering the following questions about damages for specific time periods, you should not consider in any way the question of fault or the allocation of fault.  Do not reduce any damages by any percentage of fault you may have assigned to the plaintiff.  It is the responsibility of the Judge, after you return your verdict, to reduce the damages you award, if any, by the percentage of fault you assign to the injured plaintiff. 

10. What is the amount of any past damages incurred by 



 [the injured plaintiff's spouse], for medical and other costs of health care of the injured plaintiff?












$



11. What is the amount of any damages incurred by 




 [the injured plaintiff's spouse], 




, for [past lost wages and expenses reasonably incurred in attending the injured plaintiff, past reasonable value of the injured plaintiff's service lost by the spouse, and] other past damages, excluding health care?











$



12. What is the amount of any past damages for the reasonable value of the injured plaintiff's companionship and acts of love and affection this spouse, _________________, has lost but would have received in the usual course of the parties' married life? 












$



13. What is the present net value amount of any future damages likely to be incurred by 





 [the injured plaintiff's spouse], for medical and other costs of health care of the injured plaintiff to be sustained in the future and the period over which you find they will accrue? 
FOR THE PERIOD FROM TRIAL THROUGH 


, 20
 $



14. What is the present net value amount of any future damages likely to be incurred by 




 [the injured plaintiff's spouse], for [past lost wages and expenses reasonably incurred in attending the injured plaintiff, past reasonable value of the injured plaintiff's service lost by the spouse, and] other past damages, excluding health care, to be sustained in the future and the period over which they will accrue?

FOR THE PERIOD FROM TRIAL THROUGH 


, 20
 $



15. What is the of any future damages for the reasonable value of the injured plaintiff's companionship and acts of love and affection 




 [this spouse], will lose in the future and the period over which they will accrue?

FOR THE PERIOD FROM TRIAL THROUGH 


, 20
 $



TOTAL DAMAGES OF SPOUSE, 





,
	
	$





	
	(Add subtotals from questions 10, 11, 12, 13, 14,  and 15)


	Date:  


	
	






	
	
	FOREPERSON


APPENDIX D: SAMPLE VERDICT FORMS

FORM 1

JURY VERDICT FORM FOR PUNITIVE DAMAGES CLAIM

UNDER THE TENNESSEE CONSUMER PROTECTION LAW

AND OTHER CLAIMS
JURY VERDICT FORM

PART I (TENNESSEE CONSUMER PROTECTION LAW)

1. Do you find that the defendant committed an unfair or deceptive practice under the Tennessee Consumer Protection Law that caused damage to the plaintiff?  
(The plaintiff must prove by a preponderance of the evidence.)






Yes _____

No _____


If your answer is “yes” go to Question 2.  If your answer is “no” go to Question 3.

2. If your answer to Question 1 is “yes” what amount of compensatory damages do you award plaintiff?  (The plaintiff must prove by a preponderance of the evidence.)












$ 


 

PART II (OTHER CLAIMS)

3. Do you find that the defendant made a misrepresentation that caused damage to plaintiff? (The plaintiff must prove by a preponderance of the evidence.)






Yes _____

No _____


If your answer is “yes” go to Question 4.  If your answer is “no” stop; do not answer Question 4 or Question 5.  Your presiding juror should then sign the verdict form and contact the Court officer.

4. What amount of damages were caused by defendant’s misrepresentation? The plaintiff must prove by a preponderance of the evidence.) 











$ 



(Note:  determine the amount of damages without regard to the damages you awarded, if any, in response to Question 2.  The plaintiff will be required to choose whether to accept damages listed in response to Question 2 or in response to Questions 4 and 5.  Plaintiff will not be permitted to accept damages under both legal theories.)

5. Do you find that the misrepresentation was intentional or reckless? (The plaintiff has burden of proof by clear and convincing evidence.)






Yes _____

No _____

WHEN THE JURY HAS COMPLETED THE VERDICT FORM YOUR PRESIDING JUROR SHOULD SIGN IN THE SPACE INDICATED BELOW AND THE PRESIDING JUROR SHOULD CONTACT THE COURT OFFICER.

	Date:  


	
	






	
	
	PRESIDING JUROR


FORM 2
SUPPLEMENTAL JURY VERDICT FORM FOR PUNITIVE DAMAGES CLAIM UNDER THE TENNESSEE CONSUMER PROTECTION LAW

AND OTHER CLAIMS
SUPPLEMENTAL JURY VERDICT FORM

[normally used in 2nd phase of bifurcated trial]

6. What amount of punitive damages, if any, do you award the plaintiff? 











$


 

(Note:  The plaintiff will be required to elect whether to accept damages determined in Question 2 or in Questions 4 and 6 and will not be permitted to accept damages under both legal theories.)

WHEN THE JURY HAS COMPLETED THIS PORTION OF THE VERDICT FORM, YOUR PRESIDING JUROR SHOULD SIGN IN THE SPACE INDICATED BELOW AND YOU SHOULD CONTACT THE COURT OFFICER.

	Date:  


	
	






	
	
	PRESIDING JUROR


FORM 3
JURY VERDICT FORM

[RETALIATORY DISCHARGE - COMMON LAW]

IN THE CIRCUIT COURT FOR 




 COUNTY, TENNESSEE

PLAINTIFF, 




)







)


Plaintiff,



)







)
Case No. __________

v.





)








)


DEFENDANT,



)








)


Defendant.



)

JURY VERDICT FORM 

[Retaliatory Discharge – Common Law]


We, the members of the jury, find as follows:

1. Has the Plaintiff proven by a preponderance of the evidence all of the elements of the claim for retaliatory discharge?






Yes _____

No _____


If your answer is “NO,” go to the end, sign and return the jury verdict form to the Court.  If your answer is “YES,” go to the next question.

2. Under the law as given to you in these instructions, do you find that the Plaintiff is to be awarded any damages?






Yes _____

No _____

3. If the Plaintiff is to be awarded damages, state the amount, if any, of:


Back pay and benefits:
$






Compensatory damages:
$


 




Go to the next question.

4. If you awarded damages in response to Question 2, do you find that the Plaintiff has carried his/her burden of proof by clear and convincing proof that he/she is entitled to punitive damages?






Yes _____

No _____


Sign below and return the jury verdict form to the Court.

FOREPERSON


DATE

FORM 4
JURY VERDICT FORM

[RETALIATORY DISCHARGE - TPPA]

IN THE CIRCUIT COURT FOR 




 COUNTY, TENNESSEE

PLAINTIFF,




)







)

Plaintiff,



)






)
Case No. __________
v.





)







)

DEFENDANT,



)







)

Defendant.



)
JURY VERDICT FORM 

[Retaliatory Discharge – TPPA]


We, the members of the jury, find as follows:

1. Has the Plaintiff carried his/her burden of proof by a preponderance of the evidence on all of the elements of his/her claim for retaliatory discharge under the Tennessee Public Protection Act, including that he/she was discharged from employment solely for refusing to participate in, or for refusing to remain silent about, illegal activities?






Yes _____

No _____


If your answer is “NO,” go to the end, sign and return the jury verdict form to the Court.  If your answer is “YES,” go to the next question.

2. Under the law as given to you in these instructions, do you find that the Plaintiff is to be awarded any damages?






Yes _____

No _____

3. If the Plaintiff is to be awarded damages, state the amount, if any, of:


Back pay and benefits:
$






Compensatory damages:
$


 




Sign below and return the jury verdict form to the Court.

FOREPERSON


DATE
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